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COMPUTER SCIENCE/ COMPUTER
APPLICATION/INFORMATION TECHNOLOGY
{(Honours Generic / Regular) :
For Honours Generic
Answer the Questions from any one Opt:mn
OPTION - A
- { Programming in Visual Basic/Gambas)
Paper : CSC-HG-4016
OPTION-B
( Information Security and Cyber Laws)
Paper : CSC-HG-4026
OPTION-C
( Web and E-commerce Technologies)
Paper : CSC-HG-4036
. OPTION-D
{ Computer System Architecture}
Paper : CSC-HG-4046 :
. OPTION-E
{ Introduction to Database Management Systems}
Paper CSC—»~HG-4056 /TCA-HG/RC-4016/TIT-RC-4016
- For Regular
( Computer System Architecture}
Paper : CSC-RC-4016 .
Full Marks : 60
Time : Three hours
The figures in the margin indicate
full marks for the questions.
Answer either in English-or in Assamese.
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OPTION - A

( Programming in Visual Basic/Gambas)

Paper : CSC-HG-4016
GROUP- A

i -

Answer the following questions : 1x7=7

TS fieal Rzt seby e Tes i ¢

(q)

(b)

(_C)

(@)

(e)

‘When and who developed Visual
Basic ?

%@a@f%mwmﬁaﬁ—
Pl 2

DSN stands for
' ' {Fill in the blank )

ﬁgkﬂ‘iuﬂﬁ“«i@ﬂ(m oy

(anw??ér?wwv ‘

What is a list box ?
oifer A &2
What is proje'ct file' @
erers el B2

What is Flexi grid ?
TR e
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() Debugging is the process of getting
: . an application to work correctly.
: ( Write whether True or False)

R Tarz B <R AOTOE A
Sieitel el el | (1 ¢ g 1)

(g) VB statements must be placed within
a single line.
(Wnte whether True or False)

VB ﬁwmmﬁaﬁ—mﬂaaﬁﬁm
(351 ¢ f=1 feram)

2. Answer the following questions : Ox4=8
woro Al e Tes fot g

(a) Name the three special values inr‘
Visual Basics.

fogra @bsre fOMG [ s w1 o |

(b) What is REM statement ?

REM RJfe &2

3 [8em-4CBCS) CSC G 11213145, RC/ICA HGTRC/TT RCJG 3 ' ) Contd.




fc) Outline a Visual Basic program for
displaying the grade of the student in

a text box based on the marks of a

student as follows:

Marks > 90 80-90 70-79 60—69 50-59 < 50
Grade SABCDE .

Pq GG T ev@@iflﬁﬁiﬁ% LR ELo
FEE I (1S ST A B PR CRfere
RO Sete il 4 FoleaR wife 4= ¢

TH9E > 90 ro—50 20-4d Yo-Ud €O0-E¢d <0
¢ SABCDE '

(d) What is event procedﬁre?
ST S [

Answer any three of the following
questions : : . 5x38=15

Qﬁﬁéﬁwiﬁﬁﬂﬁﬁﬁﬁﬁ#ﬁﬁﬁ@@ﬁﬁﬁTs

{a) What does VarType() do? Write its

syntax.

VarType() 4 & “<1>"C7%'9 B9 AR o |

- (b)° What is a function ? How is it declared

and called ?

<k iy IR % G e ST < 2

3 - CBE O 86 /45, /A BGRE/T RE 4

(c) Differentiate between general
procedure and event procedure.

g 15 i 2o ﬂﬁﬁﬁsamﬁ-smﬂ%q
' ﬁ#ﬂl

(d) What is select case ? Write its
. general syntax.

amﬁéc&zﬁ$?3ﬁavﬁmaqammsﬁmj%ﬂn'

(e) Write the description and usage of
the Do-loop statement. _
_Do-loop @WWGTWWME
GROUP B '
et — o

Ariswer any three of the following questions :
i  10x3=30
wero it e fofbr e Ted fam 8

(a) Explain any three controls in VB to
‘manipulate data retneved from tables

@@ﬁﬂa%ﬁﬁﬁmwmaﬁﬂavawaﬁﬁ"
Rigspizent fofab! e g <0
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(b).

el

{d)

Impl’e_:rne_nt the VB program to
maintain the employee information
using MS ACCESS and ADODC1
control (empno, ename, dept_no,
salar.y,x HRA, TA, DA and net salary)

' MS ACCESS W& ADODCI control

(empno, ename, dept _no, salary, HRA,
TA, DA 9% net salary) I8 IR TORE
O THAIET R VB AT 2o 4 |

Why is ADODC control neceéséry for
database connectivity ?

GIGICA2s A @ ADODC Wamet g

AT 2

Write a VB program to process the
grades of a student along with the

form design.

w%@@aaﬁr@wwcﬁwmq

ﬂsﬁﬁ?ﬁVBﬁtifﬂ%Wﬂ
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(e) Wirte a program to update. database

with the help of VB form. The form
contains the name of employee, his
date of birth, total pay, tQtal deduction

‘and his home address.

VB form ¥ W2 TOIER SHCEE e <0l
it fordl | e i I, (949 T O,
o v, o T O (967 T B AT

Write a VB program to print the
discount based on the category:

Category Discount
1  50% on MRP
2  40% on MRP
3 . . 30% on MRP
4 "~ 20% on MRP

(T wore o R (aR s <t b

fof acaw forar e |
50% €5RS MRP
40% @< MRP
30% ©%¥S MRP
20% @%¥5 MRP

TR R SR
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OPTION -B

(Ihformation' Security and Cyber Laws)

Answer the following questions :

- Paper : CSC-HG-4026
GROUP-A -

et —

(a) Define digital ‘signature.

»

{c)

- OB C50 G 005 OCE RGO G 8

- fofuser 7 e

What is IP sp'ooﬁng.?
R ifi e

is the art of determining

what is right and wrong and then 1
; domg the right thing.

(Fill in the blank)

%W%meﬁﬁw :
.V_WWWW%WWW|

(T év?wr_ )

Contd.

1x7=7

(d) A firewall is a secure and trusted

machine "that sits between a private
and public network.

{State whether true or Jfalse)

W@Tﬁmaﬂﬁ?ﬁﬁrmﬁﬁmﬁ}fﬁ%ﬂ_
R 951 s == e @5 e IR
P (351 v g )

‘What is BIOS'P

BIOS ﬁw

Which protocol is used in pmg
command ?

i UDP
(i) TCP
(i) ICMP
(iv) None of the ‘above

Ping (,ommand © (FCH! 25 AT I
QA

() TRH
@) Bl
(iii) WD ,
(iv) SR (BIIHIEE T
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{g} ‘Accessing of data without having
permission is called

(Fill in the blank}

msn”— wﬁ%:m © A BB
@ 2 | : (‘x’[ﬁﬁﬁﬁ‘fﬁf)

2 Answer the following questions : 2x4=8

oo Ml o Tl foral ¢

(a) Distinguish between threats and
attacks.

SRIF e S e AL AT 1

() What are data protection and privacy ?
©e AT SR ColtslTEel 6

() What is ﬂ’l(: difference between law
7 vand. ethics P

Wmmwm%%ﬁ

{d) What is ethics for information
services ? :

SO WW@W%?

3 em-4J0BY (5 H6 11345 T Bkt BEf6. 10 Contd.

Answer any three of the following ‘
questions : = - 3x5=15

(a) What are. the various crimes

(b)

Iz

(d)

()

happening using computer ?

W@W?ﬁﬁ%%ﬁﬁwwa
FEbe (2072

Write d1fferent types of cyber-attacks.

' Rifon e SR R R |

Write about encryption and

- decryption.

ﬂaﬁmm%ﬁmﬁmﬁw

Explain the difference between
physical data security and software-
based data security.

Sfes ©Y T TR SHEeRT 99
FEHHIE e AL Iy 4 ;

What is electronic data interchange
(EDI) ? How does EDI work ?

IR ©iH TORE (ED)) By oeEE
(DD BN B2
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GRO-UP—B‘ ' 8. How do jrou measure software security ?
Differentiate between Black Box Testing

blbx D _ ' ‘and White Box Testing.
4. Answer any three of the followmg w5 Wq@ﬁq (R‘Cﬂ??ﬁ gRA? @ I
questmns 10%x3= 30 - G Sl (ZRITS T G SEe Ak Bl

0 o : : 9. Write short notes on any two of the
What is information security ? What do i

you understand by security and threats ‘ Ielloving;
in information security ? : ISEEW Sl IR AR ﬁ CEHET IGEIE:
w2 Sl {5 ¢ ©2 FRES Reiee o @lqﬁw R (@) Setware. piacy
: : ' | (b) Security standards
5. What is the difference among encoding, - | R eifdaE
encryption and hashing? " (¢) E-wallet
GICPI, b % (2fReT s iy f e i' Bl
: n o S (d) Spam
6 How to secure information process ? Also
give example. . it
ey afdE ca?c-m Fafere Al #eiee %m‘@q
izl

7. What is Firewall ? State the function of
Firewall in e-commerce.

-W%?EWWWW{EE ¢
o
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OPTION-C

( Web and E-commerce Technblégieé)

Paper : CSC-HG-4036

1. Answer the following questions :
(@) What is WWW ?
(b) What is ele'ctrénic fund transfer ?
(c) What is Firewall ?
(d) What does paperless bill mean?
(e} What is SSL ? .
(]‘)‘ What is hacking ?
(g) Give the full form of WAN.
2.‘ Answer the following questions: ° 2x4=8
(a) Write any two activities of
~ E-commerce.
(b) Differentiate between G2B and G2C.
.(C} Briefly describe the value exchange
: system.
(d) Write down the role of internet in

B2B application.

(Sem - 4]CBCS] CSC HG-1/2/304)5, RC/TCA HO/RCMT RCIG 14

1x7=7 §

Answer the 'followi.ng questions : (any
three) : - 5x3=15

(a) Write down the advantages and
disadvantages of E-commerce.

'(b)' Describe the process‘of_ registering a
domain.

(c) Write down the strategies for
developing E-commerce web sites.

(d) erte down the PROS and CONS of
online shopping. :

(e) What is computer virus ? How does =
it spread ? Write the measures taken
for virus protection.

Answer any three questions from the

following : 10x3=30

(a) Explain the various business models
in E-commerce.

(b) Explain different types of threats of
E-commerce and the measures to be
_taken to protect from the threats. |

§ 0B 3, RTTEH IR R0 1.5 - Contd.



OPTION-D
( Computer System Architecture
' Paper : CSC-HG-4046

{c)} Describe the'-statutefy provisions
: covering cybérdefamation in India;

- {d) What is internet marketmg'J Explain |
the .internet marketing strategies.

- What are the advantages of internet
marketing ?

1. Answer the following questions S e
(@) What is Boolean algebra ?
(b) What do you mean by XOR gate ?

{e) Discuss the opportunities and

challenges of E-commerce in India. (c) What is logic diagram ?

(dj What is stored in a program counter
POy ‘

(¢) What is accumulator ?

(f) Describe the various electronic
- payment systems.

(/ What is instruction set ?

(g) What is flip-flop?

2.  Answer the following questions : 2><4='8

(a) Differentiate between combinational
circuit and sequential circuit.

(b) State ‘duality principle’. Give
examples.

(¢) Name three types of computer

instructions used in a basic
computer. j '

(d) What is instruction format? Name
its three most common fields.

“h-#.cimi\n I‘,:‘ i ’ 'I" : | s : : -
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3. Answer the following questions : (any
three) : 5x3=15

(a) - Simplify the Boolean function

F(4,B,C,D)=>10,1,3,5,8,9,10,13,14,15) °

by using K-map.

- (b) Explain how digital computer
' represents the character. Also
explain two types of such

representation briefly.

(¢ What is 1/O interface ? What are the
needs for using I/O interface in
computer ?

(d) How does the computer handle an

interrupt ? Explain it.

(e} Explain interrupt-initiated or
interrupt-driven I/O with the help of
~ a simple diagram.

4. Answer the following questions : (any
three) : 10x3=30

(a) What are the five different logic gates
used for the design of digital circuit ?
Give their logic s_ymbols along with
truth table of each. (1+1)x5=10

3 em- 40BCS) O30 B 026045, RO/CL MR G 18

(b)

(c)

()

(e)

()

- Explain briefly about any five

different addressing modes that are
used by the computers.

What do you understand by machine .
language ? Describe the basic concept
of assembly language. 5+5=10 -

With the help of a block diagram,
describe the components of a micro-

programmed control unit.

Draw the logic circuit along with truth -
table or function table of-the following :
5+5=10

(i) 3 - to - 8 line decoder
(i) SR or RS flip-flop

Define stack. Explain. the stack
organization of a CPU by defining two
methods of its implementation. Draw a

diagram showing the register stack.
2+5+3=10

) (o A/COCH) CAC WO 12/0/4)6, KC/TCA HlofRem REf6 19 Contd.



" OPTION -E
{ Introduction to Database Management Systemé )

Paper : CSC-HG-4056
TCA-HG/RE 4016 41
TIT-RC-4016

3 Answer the following questlons as directed :
‘ 1x7=7
eTe Tl emitaRs Mot %@a foraii ¢
(a) Storing each logical data item in only,

one place in the database is known as
. data normahzatlon

(State ’I‘rue or False)

O JETIo “’QU UpIES CW data
normalization (el =

(5% @1 wog &)

_‘ (b) Entity types that do not have key
- attributes of their own are called
(Fill in the blank)
[RICIES Entzty 9 key attributes =UF
AT T | o
| (T IR 739 79

- OB B 11545, R KM R 20 - o Contd.

(e

(@

(e) . l

()

ond Normal Form (2NF) is based on
functlonal dependency
(Fill in the blank)

2nd Normal Fofm (2NF)
functional dependency I TS WS |
(T 212 779 )

ERR stands for

(Fill in the blank)

ERR @ _ sfefRfie T o
(efra—v?? 12 259 #9)

command s used to create

a new table in SQL. (Fill in the blank)

SQL © ——— command RS PR TG
table TW@ AR | (T 312 799 F)

; Pnrnary key can be NULL.

(State True or False)

 Primary key 3 ¥ NULL R ARA|

(8% (7 ST 1)

Project is an operator in relational

algebra. (State True or False)
PrOJect e relational algebra B! BIET |
mﬁﬁmm
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i Define the following terrﬁs e |
e g | ‘
(a) Database
(b) DBMS
(¢} . Data indépendence

(d) Attribute

3. Answer any three of the followmg i
questions : : 5x3=15

Ricwiza fofisr =rm Tew gt o

(@) Briefly explain the characteristics of
DBMS. :

- DBMS ahﬁﬁ]maaﬁ fﬁzm

(b) leferentlate between :
MIEET(e SR _
(i)  Strong entity and weak entity

() Composite attribute and multi- .
valued attribute

(c) What are meant by entity integrity and
: referent1al integrity. constra1nt9

_ Entity 1ntegr1ty 9l referential 1ntegr1ty
constraint ¢ & JHZ?
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(d) Define INF and 2NF.
INF W% 2NF 3 7’@! {64 |

fe) How to convert an ER diagram to
relational schema ?

ER diagram ¥ 9! relational schema (5

@ ARTS 7 Al
Answer any three of the following
questions : e 10x3=30

(a) Explain the architecture' of DBMS.

DBMS B ot Tt

(b) What is a relationship type ? Explam

‘ the differences among a relationship -
instance, a relationship type and a
relatlonshlp set. :

Relationship type @2 relationship i
instance, a relatlonshlp type ©I<% a
relationship set¥ sfefeaT il

(c) What are the different types of SQL? .
Explain any two with suitable
example.

SQL 3 [few wwﬁw ﬁmmzﬁrw«
SQL 3 THIZIEIE TS 90l 41 |
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(d} List the operations of relational

(e

algebra and the purpose of each.

Relational algebra 3 IR el ges

W% AT BTN |

Is it possible to successfully map a’

binary M:N relationship type without

requiring a new relation ? Justify your -

answer. ; !
&5} T97 relation FEEEIE M:N

- relationship map 99 AEE ? SIS

oif oo i |

Discuss insertion, deletion and
modification anomalies. Why are they
considered bad ? Illustrate with
examples. :

Insertion, deletiqn, ¥ modification
anomalie (A SEAGN F11 | [@q" [ &=

o1 Feaoett 91 & 2 TR IS 3 4 |
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